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General Instructions:

       ( i  ) All questions are compulsory.

       ( ii ) The question paper consists of 30 questions divided  into four sections –  A, B, C  and  D. Section A  

                contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  

                C is of 10 questions of 3 marks each and  section  D is  of  5 questions of 6 marks each. 

 ( iii )  There  is  no  overall choice. However, an internal choice has been provided in one question of  

           two marks each, three questions  of three marks each  and two questions of six marks each.

      ( iv )  In  question   on  construction,  the  drawing  should be  neat and  exactly as per the given 

                measurements

       ( v )  Use of calculator is not permitted.  .

SECTION A 

1. Write the condition to be satisfied by q, so that rational number p/q has terminating decimal.
2. If zeros of the quadratic polynomial 3 - 
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, and 3 + 
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, find quadratic polynomial.
3. For what value of k, the following pair of linear equations has infinite many solutions.



10x + 5y – ( k – 5 ) = 0;  20x + 10y – k = 0.

4. Find the discriminant of the quadratic equation 2x2 – 3x + 5 = 0, and hence find the nature of its roots.

5. How many terms of the AP:  24, 21, 18, ….. must be taken so that their sum is 78 ?.
6. The areas of two similar triangles ABC and DEF are 64m2 and 169m2 respectively.  If BC = 4 cm, find EF.

7. The diameter of a circular pond is 17.5 m. It is surrounded by a path of width 3.5 m. find the area of the park.    

8. The curved surface area of a cylinder is 1760 cm2 and its base radius is 14 cm, find     the height of the cylinder.
9. If median of 20 observations is 50 and mode is also 50, find the mean.

10. Two unbiased coins are tossed. Find the probability of getting : doublet
ii. One head.

SECTION – B
11. If   
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12. Tickets are numbered from 3 to 103.  They are well shuffled and then a ticket is drawn at random.  What is the probability that the drawn ticket has :

           (i)    a number 7 or multiple of 7

           (ii)   a number which is cube?

13. Find the vertices of the triangle, the mid-points of whose sides are (3, 1), (5, 6) and (-3,2).
14. The diagonal BD of a parallelogram ABCD  intersects the segment AE at the point F, where E is any point on  
       the side BC. Prove that DF × EF = FB × FA.
15. Three numbers are in A.P. If the sum of these numbers is 27 and their product is 
648, find the numbers.

SECTION – C

16. Dilip scored 40 marks in a test, getting 3 marks for each right answer and losing 1 mark for each wrong answer.  Had 4 marks been awarded for each correct answer and 2 marks been deducted for each incorrect answer, then Dilip would have scored 50 marks. How many questions were there in the test?
17. Prove √5 is an irrational number.

18. If   
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, Find A + B.
19. If the roots of the equation (b - c) x2 + (c - a) x + a - b = 0 are equal, prove that 2b = a + c.
20. Draw  a  triangle  ABC in which BC=6cm , AB=5cm and (ABC=60 then construct a triangle  similar to the given triangle  whose each corresponding side is 3/4th of that of triangle  ABC.

21. Prove that the lengths of two tangents drawn from an external point to a circle are equal.

Use the above theorem to prove the following: A circle is touching the side BC of ∆ ABC at P and touching AB and AC produced at Q and R respectively. Prove that: AQ = 
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(Perimeter of ∆ ABC)                                                                       
22. Solve:   
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23.  Determine the ratio  in  which  the points (6,a)divides the join of A (-3, -1) & B (-8, 9). 

       Also find the value of “a”.
24. A chord of a circle of radius 15cm subtends an angle of 600 at the centre. Find the area of the corresponding minor and major segments of the circle ( Use π = 3.14 and  √3 = 1.73 ) 
25. ABCD is a quadrilateral formed by the points A( -1, -1), B( -1, 4 ), C( 5, 4 ) and D( 5, -1 ). P,Q,R and S are the mid-points of AB, BC, CD and DA  respectively. Name the type of quadrialateral PQRS.
SECTION – D

26. The angle of elevation of a jet plane from a point A on the ground is 600. After a flight of 15 seconds, the angle of elevation changes to 300. If the jet plane is flying at a constant height of 1500
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 m, find the speed of the jet plane in km/h.
27. State and prove the Pythagoras theorem. 
Using the above theorem prove the following : In an isosceles triangle ABC with AB = AC, 
      BD is perpendicular from B to the AC. Prove that: BD2 – CD2 = 2 CD . AD
28. A metallic bucket is in the shape of a frustum of a cone mounted on a hollow cylindrical base from the adjoining figure. If the diameters of two circular ends of the bucket are 45cm and 25cm, the total vertical height is 30cm and that of the cylindrical portion is 6cm, find the area of the metallic sheet used to make the bucket. Also, find the volume of water it can hold.
                                                                 45cm

                                                                  

                                          30cm                   25cm

                                                                       

                                                     6cm       

29. Solve the following system of linear equations graphically :    4x - 5y - 20 = 0; 3x + 5y - 15 = 0

       Determine  the  vertices  of  the  triangle formed  by  the  lines  representing  the above equation and the y - axis.
30. The following table gives monthly wages in rupees of workers in a certain commercial organization. their weights were recorded as follows :

	Weight(in kg)
	Number of students

	Less than 38
	0

	Less than 40
	3

	Less than 42
	5

	Less than 44
	9

	Less than 46
	14

	Less than 48
	28

	Less than50
	32

	Less than52
	35


Draw a less than type ogive and more than type ogive for the given data. Hence obtain the median weight from the graph and verify the result by using formula. 
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